





















































































































































Splithiyt
Recayp pix c FEEL aired How

find a field where pck
has a root FM PED

and p erred p prime

So p
is maximal

FEx7 cpcx
K is a field

in K wee hare pCEx7

pox 7
0

The natural progeekin IT FEI 47746

ITE EF

We view 19 as an extension of
























































































































































F by identifying F 01 it's

lio scopy in K

Do this inductively i.e Keep

adjoining book of inred felon until

you get
a held extensor KK containing

all roots of fad so that

fat Car x ral E KH

Def A field KIF is a splitting

held of f if
fact x r l Garn E KIM
no intermediate extension between

F and K has this property
























































































































































Bighn if kik splitting feeds

of f C FEEL Then

KEK via T K K

w TCF F

Also algebraically
dosed

fields

kffikggfkdalg.cl
if Brad

f fucks into
linear terms

in KH

KIF is an alg closure

of Fif K'is

extension or F
























































































































































Every
F has a alg
closure FIF

E
a 271 C EXT

roots are Ii

Splitting field'arroy is Qlis
Splitting

held our Qu is lit

E 2 Cx33 c Of

roots I 52 I 53

Splitting field
contains 82,53

contuis Qtr Fs
























































































































































Other Corknment is also

clear

golfers is splitting field

over Ql
Similarly see QIN B

is Sf our Quel

X't4 C Q'Cx

X't 4 642 7162 2 21

roots III i

splitting
feed flit















































































































































































































































































































I 1

are there any algebraic
relations between racnd Tp

xp I so p k

so s.f.ie ra What

is opera QT

Coral
9 57256

I E 2

Cal QCFes

12

Q
























































































































































I

Ta in root of 42 51256

C Q'Edl

degree of Hp extension is 2

ra EQCa l

ra E Cal QQ

Fa at bRo g b E Q

5 r 256 a't Gb r ZabEe

5 a7662

I ab
























































































































































a To 5 fat Gb

6615671 0

So b l's rahend root of

XI 5 71 Can check

directly via oatond root test

that this has no rabid

roots

no Sol to system

ra E Qin

Cra QT 4
























































































































































Ext pan x 2 C gag

p has roots

4f2 I 4fEi

Splitting
field is frail

C

Sf Contois
contains

452 4fzi
Oyuki

Contains Rind
4N
























































































































































life i

21 I
2 4

Qtr Ci

4 2 x

x e

Q

Qur is CareIf 2

bk Gural CIR
and CEI IR

So 1914 3 14 ha
























































































































































I 1
degree 8

What is a s f of
x 2 our Ez

First facto ow Akil
Can see no roots o

E3 by inspection So

if factor must be

too quadrahis
























































































































































Ir red quadratic in FzCxT

XF XH
XIX t 2

X2r2x t 2

4
2 67 211 72 2

note that if r is a root

of a quadratic in
some

field then the other

root is also conkind
in field
























































































































































Let a be a root of

X7xt2 13
be a

roof of XZ2xr2

da p Note Zx

is a root

of x72xr2

Sf is Focal and

IECal HE has degree 2






















































































































































































